[ normalized x? probability |

0.03

107}
0.025

1072F i - :

107

0.015

0.0

0.95 20
X2

0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X Prob(x?)

=== HQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN

=== DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all

5

T

<prlp > (%)

L
T
+

=3 -2 -1 0 2 3
TP n (PCA to beamline)

< x2/ ndf >
N
o)
T

< X2/ ndf >

g
o)
T

i
T T[T [T [T T I [T TIT T

107 1072

-1
AR(track, jeltS)

g % ]
A 4AF :
N :
= 3:— d
> °F R
o 2F- ]
] E i
- 3
o :
¥ ;
-2F- ;
_32_. :
~4f- :
F i i i
o ) I .
© :
24 .
= - o L R R
0.95 . .
107 1 10 10% Jo



	Contents
	Page 1


